Adda

CTET Paper 1 Memory Based Questions PDF - 27 January 2023 shift 1

24

CTET-1 CDP Memory Based Questions

Q1. In constructivism according to Piaget,
education is
Ans: Child-centered

Q2. Which statement is related to the theory of

Vygotsky?
Ans: Culture and Language play a significant
role in the development of a child

Q3. Who describes the child as a moral
philosopher?
Ans: Kohlberg

Q4. Kohlberg’s idea of moral development has
Ans: Three levels

Q5. Dysgraphiais
Ans: The inability to write coherently.

Q6. The first NEP was declared in the year
Ans: 1968

Q7. The full form of NIPUN is-
Ans: National Initiative for Proficiency in

Reading with Understanding and Numeracy

Q8. FLN stands for-
Ans: Foundational Literacy & Numeracy

CTET-1 English Memory Based Question

Q1. Itis contradicted to Chomsky’s theory-
Ans: Children learn language through
imitation

Q2.

Q3.

Q4.

Q5.

Q6.

Most effective tool to teach vocabulary
Ans: Picture dictionary

According to Total Physical Response, a
teacher should-

Ans: Teach vocabulary by connecting words
with appropriate actions

It is the least relevant objective for
introducing children to poetry

Ans: To improve students’ ability to
memorize

What should a teacher take care of, while
providing examples to teach grammar?
Ans: Be sure the examples are accurate and
appropriate

It is the study of sentences and phrases-
Ans: Syntax

CTET-1 Hindi Memory Based Question

Q1.

Q2.

Q3.

Q4.
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B €, FAT FEATd & —
Ans: STIATIE FIT

CTET-1 Mathematics Memory Based
Question

Q1. If we multiply a fraction by itself and divide
the product by its reciprocal the fraction

thus obtained is 18 g, the original fraction
is—

2
Ans: 2-

3

Q2. Find the wrong term in the given series-
4,27,3125,46652, 823543
Ans: 46652

Q3. Afruitseller lemon at 2 for a rupee and sells
then at 5 for three rupees, his gain percent
is-

Ans: 20%

Q4. Amandeposited RS.400 for 2 yrs, Rs 550 for
4 yrs and Rs 1200 for 6 yrs, he received the
total simple interest of Rs 1020, Find rate of
interest per annum -

Ans: 10%

Q5. Find the area of a rhombus having diagonal
16m and 18 m-
Ans: 144 m?

CTET-1 EVS Memory Based Question

Q1. Astudentis at A and wants to reach at B. For
this, he first goes to O which is 120 m due
north of A and then he goes from O to B by
covering a distance of A from B and the
direction of A with respect to B are
respectively

Q2.

Q3.

Q4.

Q5.

Q6.

1. 130m; south-west
2. 130m; south-east
3. 170m; south-east
4. 170m; south-west
Ans: 130 m; South-east

Jhoom farming is -
Ans: Slash and burn farming

Pochampally is a village which is famous for
the special cloth which is also called
Pochampally. This village is a part of

Ans: Andhra Pradesh

The difference between boiling and
evaporation is that

1. Boiling causes a reduction in volume of
liquid while evaporation does not

2. Changing of boiling liquid into vapour can
be seen but evaporation cannot be seen

3. Boiling causes a change of state of water
while evaporation does not

4. Evaporation can take place at any
temperature while boiling cannot

Ans: (4.) Evaporation can take place at any
temperature while boiling cannot

Select correct statement from the following
about Brass

1. Itis an element

2.1t is a compound

3.tis an alloy of copper and zinc
4.1tisahomogeneous mixture of copper and
tin

Ans: (3.) It is an alloy of copper and zinc

In which one of the following states the
meaning of “Torang” is jungle?
Ans: Jharkhand
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